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Q1. Four years ago, Inga Sorenson bought six-year, 5.5 per cent coupon bonds issued by AGA AB for

SKr 947.68. If she sells these bonds at the current price of SKr 894.52, what will be the realised yield on

the bonds? Assume annual coupons on similar coupon-paying bonds. (5 marks)

Q2. Last year Rattner Robotics had $5 million in operating income (EBIT). Its depreciation expense was

$1 mill ion, its interest expense was $1 million, and its corporate tax rate was 40%. At year-end, it had $14

million in current assets,

$3 million in accounts payable, $1 million in accruals, and $15 million in net plant and equipment.

Assume that Rattner's only noncash item was depreciation.

a. What was the company's net income? (2 marks)

b. What was its net working capital (NWC)? (2 marks)

c. Rattner had $12 million in net plant and equipment the prior year. Its net working capital has remained

constant over time. What is the company's free cash flow (FCF) for the year that just ended? (3 marks)
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Q')-'. What is capitalization or interest and its importance in regulated utilities companies?

Draw a table as mentioned below and identify the effect (higher or lower) of interest capitalization and

expensing on each component. Justify your answer with suitable example. (10 marks)

Overall Initially Later years
Capitalizing Expensing Capitalizing Expensing

Net Income
EBIT
EBITDA
CFO
CFI
Total asset turnover ratio
Fixed asset turnover ratio
ROA
ROE
Time interest earned

•
Q4. Read the case and answer below questions:

a. Calculate those ratios that you think would be useful. (5 marks)

b. Construct a DuPont equation and compare the company's ratios to the industry average ratios. (5

marks)

c. Do the balance sheet accounts or the income statement figures seem to be primarily responsible

for the low profits? (5 marks)

d. Which specific accounts seem to be most out of line relative to other firms in the industry? (3

marks)

. C PIO.
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